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Multiplikation - vertikal Name:
L 6se jede Aufgabe. Antworten
17 2) 58 3 11 49 84
° 6 ° 8 o 7/ ° 8 L
2,
3,
4.
5 52 6 15 35 8 61
« 2 « 2 e 7 e 6 >
6.
7.
8.
9 15 100 78 0 mn 12 58
9,
e 3 e 5 e 8 e 9
10.
11.
12.
13) 20 14) 11 15) 46 16) 79
13.
« 2 e 4 e § e 2
14.
15,
16.
1) 94 18) 37 19) 99 20) 36
17.
[ ] 2 [ ] 7 [ ] 8 [ ] 6
18.
19.
20.
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
17 58 11 84 L 102
° 6 ° 8 o 7/ ° 8
102 464 77 672 ’ 464
3 77
4 672
5 6 7 8
) 52 ) 15 ) 35 ) 61 s 104
[ ] 2 [ ] 2 [ ] 7 [ ] 6
104 30 245 366 6. 30
7 245
8 366
9 15 100 78 1) 41 12) 58
9 45
e 3 e 5 e 8 e« 9
45 390 328 522 10. 390
11. 328
12 522
13) 20 411 15 46 16) 79
13, 40
« 2 . 4 e 5 « 2
40 44 230 158 14, 44
15, 230
16. 158
17 18 19 20
) 94 ) 37 ) 99 ) 36 . 188
[ ] 2 [ ] 7 [ ] 8 [ ] 6
188 259 792 216 18, 259
19. 792
20, 216
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplikation - vertikal Name:
L 6se jede Aufgabe. Antworten
366 390 104 522
30 245 464 77 1
45 672 328 102
2,
D17 2 58 3 11 49 84
* 6 e 8 e 7 e 8 3.
4,
5,
6.
7.
8.
52 6 15 N 35 8 61
b 2 ° 2 ° 7 Y 6 9
10.
11.
12.
9 15 10 78 1) 41 12) =8
e 3 e 5 e 8 e 9
Geandert 1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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